Verbal Reasoning
Practice Test — Set B
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1. In a certain code language, WINDOW is coded as 452364,
SHADE as 17839. Then HIDDEN is coded as?

763392

765595

(E) 753392

743392

756696

2. MANAGER is coded as ‘klyzimyzefcdpq’, then TYPIST is coded
as?

rsxyxohgqrrs

stxyxohgqrrs

(E) rswxxohgqrrs

rswxnoghqrrs

stwxuogwqrr

3. ORANGE is coded as ‘LOXKDB’ then GRAPES is coded as?
DOYMBP

DOXMBP (B) DOXNBP

DPXMBP

DOXMBQ

4. ‘Badminton’ is coded as ‘cricket’. ‘Cricket’ is coded as ‘volley
ball’. ‘Volley ball’ is coded as ‘long jump’. ‘Long jump’ is coded
as ‘Hockey’. ‘Hockey’ is coded as ‘running race’. ‘Running race’
is coded as ‘badminton’. Then find the game which is played by
two teams of six players each?

Volley ball

Cricket

(E) Long jump

Hockey

Running race

5. MONEY is coded as ‘Innpmodfxz’, then RUPEE is coded as?
gstvoqdfdf

gstvqodfdf

(E) gstvoqgtddf

gsvtoqdtdf
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6. ‘NIGRE’ is coded as ‘ADOQC’ then ‘ENGINEER’ is coded as?
CAODCACQ

CAODACQC

(E) CAODACCQ

CADOACCQ

CODACACQ

7. ‘hik mnl ikml’ is coded as ‘she eats apples’. ‘hik srtw ikml’ is
coded as ‘she cooks food’. Then what is the code for ‘she eats
food’?

hik mnl ikml

bdc mnl ikml

(E) srtw hik ikml

ikml bdc mnl

mnl bdc ikml

8. ‘345’ is coded as ‘Sunday is Holiday’, ‘674’ is coded as ‘come on
Sunday’, 751 is coded as ‘Holiday will come’. Then what is the
code for ‘is’?

1

4

(E) 6

5

3

9. ‘LEAVE HIM'’ is coded as ‘JCYTC FGK’, ‘CATCH URGENTLY’ is
coded as?

AXRYG SPECLRJW

AXRYF SPECMRJW

(E) AYRAG SPDCLRIW

AYRAF SPECLRJW

AYRAF SRDCLPJW

10. ‘DANCE’ is coded as ‘12345’ and ‘DANGER’ is coded as ‘123657’.

A.
B.

Then ‘EAGERED’ is coded as?
5465751
5365751
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(E) 5635751
. 5275651
5265751

‘SURVEY’ is coded as ‘TTSUFX’, then ‘WISDOM’ is coded as?
XHTCPL

XHRCPL

(E) XHTCPN

. XHTEPL

XHTCNL

‘WISE MAN'’ is coded as ‘1324 658’, ‘WINTER’ is coded as ‘138749’,
then ‘SAME WATER’ is coded as?
. 2764 15849

A
B. 2563 15849
C. (E) 2564 15749

D

. 2764

E. 2456 15749

13. ‘mouse’ is called ‘keyboard’, ‘keyboard’ is called ‘CPU’, ‘CPU’ is
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called ‘monitor’, ‘monitor’ is called ‘UPS’, ‘UPS’ is called
‘floppy’. Then find the article which is useful in entering inputs?
mouse
monitor
(E) CPU
keyboard
UPS

14. ‘456’ means ‘she is beautiful.” ‘632’ means ‘he is handsome’.
‘517’ means ‘she works hard”. ‘486’ means ‘flower is beautiful’.
Then find the code for the word ‘flower’.

4

. 5

. (E)8

6

2



15. ‘ROUGH’ is coded as ‘45312’, ‘SAME’ is coded as ‘7698’. Then
‘MOUSFE’ is coded as?
. 95387
. 95738
. (E) 59387
. 95378
93587
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16. ‘pqost ygx mnlia’ is coded as ‘manager is there’, ‘xyrs kixt ygx’
is coded as ‘clerk is here’, ‘ygx srtv pgost’ is coded as ‘manager
is genius’. Then ‘there’ is coded as?

A. xyrs

B. ygx

C. (E) pgost

D. kixt

E. mnlia

17. ‘Trees’ are called ‘birds’, ‘birds’ are called ‘creatures’, ‘creatures’
are called ‘snakes’, ‘snakes’ are called ‘tortoises’, ‘tortoises’ are
called ‘hares’, ‘hares’ are called ‘hens’. Then find which do not
move from one place to another?
. tortoises
. birds
. (E) creatures
. hares

snakes
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18. ‘Lions’ are called ‘tigers’, ‘tigers’ are called ‘bears’, ‘bears’ are
called ‘donkeys’, ‘donkeys’ are called ‘foxes’, ‘foxes’ are called
‘leopards’, ‘leopards’ are called ‘tigers’, Then find the animal
which has more hair?

A. Lions

B. Tigers

C. (E) leopard
D. Donkeys
E. Deer
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19. ‘Kings’ are ‘queens’, ‘queens’ are ‘aces’, ‘aces’ are ‘jacks’, ‘jacks

are ‘spades’, ‘spades’ are ‘diamonds’, ‘diamonds’ are ‘kings’.
Who is the lady supreme in the kingdom?

A. aces

B. kings

C. (E) jacks

D. diamonds

E. queens

20. ‘Doors’ are ‘mats’, ‘mats’ are ‘walls’, ‘walls’ are ‘floors’, ‘floors’
are ‘windows’, ‘windows’ are ‘grills’, ‘grills’ are ‘beams’ ‘beams
are ‘doors’. Then find which is covered by carpet?

Door
Wall
window
mat
floor
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21. If Soldier is to General then Sailor is to
A. Ship

B. Submarine

C. Admiral

D. Sea

22. If a party consisted of a man and his wife, their two sons and
their wives and four children of each son. How many persons
were there in all in the party?

A. 10
B. 14
C. 20
D. 16
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23. Which one of the following statements corresponds more
closely to the meaning of the proverb“An early bird catches the
worm”.

It is foolish to fret about things we cannot help.
Do not worry over troubles before they come.
Do not do the impossible.
Early birds like worms best.
Prompt persons often secure advantages over lazy ones.
24. If 12 men can live on certain ration for 6 days, how long will it
take 8 men to live on the same ration?
A. 8 days
B. 9 days
C. 10 days
D. 14 days

25. Find the extra word in each one of the following lines.
A. Needle, Tackle, Nail, Knife, Pin
B. Feathers, Hair, Grass, Wool, Fur
C. Circle, Square, Triangle, Hexagon, Pentagon
D. Coke, Coal, Bread, Wood, Paper
E. Benevolence, Charity, Kindness, Affection, Hatred.



